AP Calculus BC Mr. Shubleka Quiz: 12

Present neatly. Justify for full credit. No Calculators.

Name Score ~10 minutes / A

1. Find the points on the curve y=(cosx)/(2+sinx) at which the
tangent line is horizontal.

[5 points]
2. Evaluate or explain why it does not exist. [5 points]
a)
. osin(x— 1)
}m']l x2+x—2
b)
. 1 —tanx
lim

x—w/4 SINX — COS X
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AP Calculus BC Mr. Shubleka Quiz: 12

Present neatly. Justify for full credit. No Calculators.

Name Score ~10 minutes / F
1.

For what values of x does the graph of f(x) = x + 2sin x
have a horizontal tangent?

2.Find
35

dx35

3.
Suppose f(m/3) = 4 and f'(7/3) = —2, and let
g(x) = f(x) sin x and h(x) = (cos x)/f(x). Find
(a) g'(m/3) (b) A’ (m/3)

[5 points]

(x sin x)
[2 points]

[3 points]
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